Qn. 14
Convert (101.101), = ( P
alls3 eanoo alieladlenya,
s 101.101 = 1x22 + 0x27+1x2%+ 12 1+ 0x22+ 1 x2-2
=4+0+1+ 1/240+1/8 = 5+ (05 + 0.125
(101.101), = (5.625),4
Qn. 15

Convert (71.24)5 = ( ),,?
alls3 canoo al3Gleloms,.
X 71.24 = 7x87+1x80+2x8 1+ 4x8-2
= 56+1+ 2/8 + 4/82
= 57 +0.25 + 0.0625
(71.24) = (87.3125)4¢

Qn. 16

Convert (AB.88)6 = ( )107?
ails3 eanog RGllsns,
A=
10 11
A B. 8 8
L I I

167 18° 161 1p2
= 180+ 11+ 0.5+ 0.03125
(AB.88);¢ = (171.53125),,
Qn. 17 )

Convert (1011)2 = ()82
Qg ecog 3Gl e s,

g’\@ Step I: First divide the number into groups of 3 bits

starting from the right side and insert necessary
Zeroes in the left side. '

001[01 1
Step 1I: Next write down the octa] equivalent,
001 0 11

.

So the answer is
(1011), = (13)g

Qn. 18

Convert (110100), = ( )g?
alls3 ey o201l e935,

XWR Step I: First divide the numb
starting from the right side
zeroes in the left side.

Step II: Next write down the hexadecima] equiva-

erinto groups of 4 bits
and insert necessary

lent.

0011/ 0100
vl
3 4

So the answer s
(110100), = (34)44



e = |
Qn. 19 T e

(72)s = ( )27
afls3 6alIO o13RlON3S.
X Write down the 3 bits equivalent of each digjt.

7. 1) 2
W
111 010

So the answer is
(72)g = (111010),

Qn. 20 v
Convert (AO)1s=( )27

afls3 Gl l3@lelen3s:. |
Xy Write down the 4 bits equivalent of each digit

0
0
1010 0000

' So the answer is
(A0)1 = (1010 0000),

Qn. 21

Convert (67)8 = ( )‘]6
alls] 8al)QO) o3G5,

X@ Step | : First convert this number into binary
equivalent for this do the following:

' /

6 | 7
oo
110 111

Step Il : Next convert this number into hexadeci- '
mal equivalent for this do the following.
0011 l 0111

Voo

3 . 7
So the answer'is (67)s = (37)1s
Qn. 22
Convert (A1) =( )g?
ailg3 Gl o13@1 8036

R@ Step | : First convert this number into binary equiva-
lent. For this do the following £ B

1

}

1010 0001

Step Il : Next convert this number irito octal equiva-
lent. For this do the following.
010 l 100 I 001 l

2 4 1
- So the answer is (A1):6 = (241)4




